One of the disadvantages in using the method of substitution to
solve simultancous equations is that fractions are often involved in
the equations. This usually happens when none of the coefficients
of the unknowns in the cquations is cqual to 1.

Hence we shall study a different method in solving simultancous
cquations: lhe method of climination. ln this method, one of the

k the will be by
adding or sublmcnng the two equations. As a result, we can avoid
fractions.

m Solve the simultancous equations:

{3“2\\-- 19 .. R )
3x-2y=11 .. )

Solution Adding the two equations:
3x+2y = 19
3x-2y = 1
el 6x =30
x =5
Substitute x = 5 into (i), we have
3(5)+2y =

2y=4

y=2
. The solutionis x = 5, y = 2.
Note : 1f we start solving the simultaneous equations by

subtracting equation (il) from equation (i), then
we shall obtain the value of y first.

ie. (i) 3x+2y = 19
(i) 3x=2y = 11

(i) - (i) 4y =8
Sy .

Then we can substitute the value of y into either
equation (i) or (i) to obtain the value of x.

4 By odding the two equations. the
terms +2y and -2y conccl exch
other. Hence the unknown  is
eliminated, leaving o simple equatith
inx.

A The check is left to the students.



